
FRONT VIEW

V90 BEACH VOLLEYBALL

SCALE 1:30

GROUND SLEEVE ES89

5
0

5
0

0

BASE / GROUND LEVEL

PLAYING SURFACE LEVEL

400

1
0

0
0

1
2

5
0

POLE 'A'

GROUND SLEEVE

400

POLE 'B'

10 METRES

COLLAR

S
A

N
D

INSERT GROUND

SLEEVE CAP (EL89)

WHEN POLES ARE

REMOVED

COLLAR

MENS - 2430 MM

BOYS 13-15 YEARS - 2350 MM

WOMENS - 2240 MM

GIRLS 13-15 YEARS - 2150 MM

MOVE THE BOLT TO THE

SLOT AT THE REQUIRED

HEIGHT

FEED THE NET CORD

OVER THE PIN AND

DOWN FOR TIE OFF

TENSION THE NET

CORD AND TIE OFF

TENSION AND TIE OFF

THE BOTTOM NET CORD

SHACKLE AND PULLEY

CLEAT

RATCHET TENSIONER

D-SHACKLE

M8 X 80 MM S/S HEXBOLT

AND NYLOC NUT AND NYLON

WASHER

DRAWING NUMBER:

WEIGHT:

TITLE:

V90 ASSEMBLY

CUBIC MEASURE

ASSEMBLY INSTRUCTIONS

V90

BEACH VOLLEYBALL

- -

Oz Ring Pty Ltd

Trading as:

Play Hard Sports Equipment

ABN 79 066 094 559

24 Ern Harley Drive

Burleigh Heads Qld 4220

Phone: (07) 5593 4494

Fax: (07) 5593 4338

Website: www.playhardsports.com.au

Email: email@playhardsports.com.au

sports equipment

PART PACKEDITEM DESCIPTIONQTY

89 MM SQ. MAIN POLE ASSEMBLY

INCLUDING 3 X M10 'D' SHACKLE & CLEAT

100 MM SQ. GROUND SLEEVE

EL90 GROUND SLEEVE CAP

M10 X 80 MM S/S HEX BOLT

M10 S/S NYLOC NUTS

M10 MUDGUARD WASHER

1

1

A

B

C

D

2

2

-2

-

2

-

4

-

-

-

89 MM SQ. MAIN POLE ASSEMBLY

INCLUDING 3 X M10 'D' SHACKLE

13M ROPE 8MM DIA. W/ EYELET AT

ONE END

E1

50 MM PULLEY 250KG CAPACITY  W/

M10 'D' SHACKLE

F2

RATCHET TENSIONER -1

-

-

-

M8 X 80 MM S/S BOLT AND NYLOC NUTS

M8 NYLON WASHER

-1

-

2

--

COLLAR (100 X 100 X 4 SHS GAL 10MM

LENGTH)

-

2


	Sheets and Views
	V90 Assembly


